

Q1241 - Dalal adem, 03/730725, gemayzeh

Rony Chiha 4-8 Harley Crescent Condell Park NSW 2200 P: +96170619421 M: +96171727274

Quote Number: Q1241 Quote Valid for 30 days Building Type: Residential Quote Date: 20/10/2020

Gemayzeh

This apartment has been damaged by "Beirut Explosion" on the 4th of August 2020. Steps of Hope in collaboration with A-Tech Australia took the initiative to help in the renovation of damaged houses, to get people back to their homes before winter comes.

Apartment damages survey:





Q1241 - Dalal adem, 03/730725, gemayzeh

Estimate

Customer:		Estimate Det	Estimate Details:		
Rony Chiha 4-8 Harley Cre Condell Park NSW 2200		Net Total: Markup: Tax: Estimate Total:	\$4,822.50 \$0.00 (0%) \$0.00 \$4,822.50	2	
Ph: +96170619421 Email: help@sohope.org.au			Building Type: Residential Date Prepared: 20/10/2020		
	Co	ost Items			
c	ode Description	Units / UOM	Unit Cost	Total	
1 Alum	inium + Glass			\$1,432.50	
1.1	Aluminium window Double Glazed	8.000 quantity	\$135.00	\$1,080.00	
	Aluminium window Double Glazed	8.000 quantity	\$135.00		
1.2	Double Glazing	1.000 m2	\$65.00	\$65.00	
	Double Glazing	1,000 m2	\$65.00		
1.3	Aluminium Window	2.500 m2	\$115.00	\$287.50	
	Aluminium, Window	2.500	\$115.00	014023384439	
2 Mate	rials			\$150.0	
2.1	Tube 4 x 4	2.000	\$35.00	\$70.00	
2.2	U tube	2.000	\$40.00	\$80.00	
3 Labo	r			\$1,650.00	
3.1	Professional Installer	3.000 Day	\$55.00	\$165.00	
Ť.	Professional Installer	3.000 Day	\$55.00	4100100	
3.2	Second Installer	3.000 Day	\$35.00	\$105.00	
	Second Installer	3.000 Day	\$35.00	Sh.	
3.3	Forman	10.000 Day	\$38.00	\$380.00	
Ť	Forman	10.000 Day	\$38.00	35	
3.4	worker 1	10.000	\$25.00	\$250.00	
3.5	worker 2	10.000	\$25.00	\$250.00	
3.6	worker 3	10.000	\$25.00	\$250.00	
3.7	worker 4	10.000	\$25.00	\$250.0	
4 Conc	rete work			\$1,590.0	
4.1	cement	30.000 Bag	\$13.00	\$390.00	
4.2	paper scratches	80.000	\$5.00	\$400.00	
4.3	Transportation	3.000	\$100.00	\$300.00	
4.4	materials for demolishing the wall	1.000	\$200.00	\$200.00	
4.5	plaster	15.000 Bag	\$20.00	\$300.00	

Net Total: \$4,822.50 Markup: \$0.00 Tax: \$0.00 Estimate Total: \$4,822.50

Steps of Hope 4-8 Harley Crescent Condell Park NSW 2200 Ph: 0474000444 <u>sohope.org.au</u> Email: help@sohope.org.au ABN: 84636391298





Steps of Hope 4-8 Harley Crescent Condell Park NSW 2200 Ph: 0474000444 <u>sohope.org.au</u> Email: help@sohope.org.au ABN: 84636391298



